V==Y, +Y,
If 4y, =Y, -2y, +Y,,Y1(0)=2,y2(0)=3, y3(0)=0, solve yi(t), y2(t), y3(t). [104 & FiEM 3]
Yi=Y, Vs

Y, -1 1 0
[f#E1ex=|y, ,A=| 1 =2 1] FXAEx =Axe (i)
Y; 0 1 -1
-1-2 1 0
1 -2-2 1 [=0=>-(A+D)*A+2)+(A+D)+(A+1)=0
0 1 —1-X
A+DIX +30+2)-2]=0=> 1A+ DA +3)=0=>A1=0,-1,-3
-1 1 0 1 0 10
A=0=| 1 -2 1k=0=>x=|1pPA=-1=|1 -1 1ix,=0=x,=| 0
0 1 -1 1 0 10 -1
210 1
A==3=|1 1 1jx,=0=>x,=|-2
01 2 1
0 0 0 11 1 (-2 -2 =2
BD=[0 -1 0 S=|1 0 -2 st 3 o 3
0 0 -3 1 -1 1 6 -1 2 -1

% x =Sy, (i))= Sy = ASy =y =S"ASy = y' = Dy

1 1 1][1t 0 0][C/] |C+Ce'+Cpe™
y=e"C=x=8e"C=[1 0 -2(|0 e* 0fC,|=| C,-2Ce™
1 -1 1j[0 0 e™[[C;] |C,-Cee'+Cse™
5
y,(0)=2 C,+C,+Cy| |2 C, 3
y,(00=3|=| C,-2C, |=|3|=|C,|=| 1
y,=0] |c-c,+c,| o] |c ‘%
§+e7t_%ef3t_
] |3 3
77 5 4 -3t
ks y,() | = §+§e
ys(t) S gt 2o
3 3




